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UGC NET PAPER 2 NOVEMBER 05, 2017 SHIFT 1 PHYSICAL EDUCATION QUESTION PAPER

PHYSICAL EDUCATION
PAPER - IT

Note : This paper contains fifty (50) objective lype questions of two (2) marks each. All questions
are compulsory.

1.  The philosophy of physical education is based on :
(1)  Lxistentialism  (2) Pragmatism (3)  Lclectic Philosophy  (4) Realism
2. Mosl oxygen carried in the blood is :

(1) In solution within the plasma

(2)  Combined with plasma protein
(3)  Chemically combined with hemoglobin
(4)  In solution within the RBC

3. In which position the pressure on the vertebral discs is greatest 7
(1) Stand upright (2)  Seated
(3)  Supine lving (4)  Prone lving
4.  Individual dilference’s impact on the ability to learn skills is influenced by :
(1) Heredity (2)  Environment
(3)  Sex of participant (4) Teredity and environment
5.  Laisscr faire curriculum 1s :
(1) Social Needs Centred (2)  Social Values Centred
(3)  Monetary Centered (4)  Child Centered
6.  The Causative agent for Svphilis is :
(1)  Treponema Pallidum (2)  Treponema Sulphium
(3) Bactertum Ribinoportum  (4)  Multiporium Derma
7. Which of the [ollowing does not constitute the characteristics of sports training, ?

(1)  Exploitation of human reserves
(2)  Controlled daily routine

(3)

(4)
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8.  Which of the following is not a design of Randomized Controlled Trial 7
(1)  Factorial Design
(2)  Parallel Design
(3)  Cross-over Design
(4)  Stratified Design
9.  Ponderal Index indicates the plaver’'s position in relation to which somatotyping ?
(1)  Endomorphy (2)  Mesomorphy
(3)  Ectomorphy (4)  None of these
10.  Which of the following is against the principles of organisation ?
(1) Proper decentralization (2)  Overlaping of authority
(3)  Deligation of power (4)  Proper communication
11.  The most observable increase in physiological changes that accompanies the aging process.
(a) Maximum heart rate
(b)  Resting pulse rate
(¢)  Maximum cardiac output
(d)  Resting systolic blood pressure
() Deripheral resistance
Code
(1) (&), (¢) and (d)
(2) (b)), (d) and (¢
(3) (<), (e} and (a)
(4)  (d), (a) and (b)
12. At high altitude performance in running events beyond one minute, affects significantly due
lo:
(a)  Decrease in lotal baromelric pressure
(b)  Decrease in partial pressure of oxvgen
(c)  Decrease [riclional resistance
(d) Decrease environmental lemperature
(e)  Decrease oxvgen availabilily to muscle
Find the correct code :
O @b e @ GO @ Ode @ @ W
aur | [[HNMIENAL . ren
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14.

16.

The joints which permit circumduction movements.
(a) Intervertebral of Tead

(b)  Metacarpophalangeal of Thumb

(¢)  Intertarsal of Fool

(d)  Melatarsophalangeal of Toes

(¢} Sternoclavicular of Arm and Shoulder

Code :
(1) (&) and (b) (2) (b)) and (d)
(3) (¢} and (c) (4)  (a) and (d)

Effective team climate is developed through :

(a)  Social Support (b)  Distinctiveness

(c)  Proximity (d) Fairness (e) Individual excellence
Code :

(1) (@), (b), (d), (e) (2) (@), (b), () (o)

Technology in education can :

(a)  Enhance Communication

(h)  Reduce activily time

(¢)  Transform a poor teacher into a good one

(d)  Provide strategies to students

(e)  Help in understanding the social background of the students

(f)  Enhance teacher student interaction

Code :

(1) (a), (b), (f) (2)  (a), (b), (c)

3) ) (@), (@ @) (@) © ©

The following are fat soluble Vitamins :

(a) Vilamin A (b)  Vitamin B (c) Vitamin C
(d)  Vitamin D (¢}  Vitamin E (f)  Vitamin K
Code :

) (@), (o) (& 2 ® (@ (e, O

B) ) ©. 0 @ @ @ @, O
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(d) R I Sl T R
() ST 3R HHl % LA
E =3
(1) (a) 3T (b) 2  (b) FR()
(3) () ¥R (e) (4) (a) ¥R (d)
14, GYTEYIEl 200 e Hes g fawfaq g g ?
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he @
(1) (a), (b), (d), (c) (2)  (a), (b), (0), ()
(3)  (a), (b), (), {d) () (c), (d), (o), ()
15.  T1ef1 9 Gr2ifieht o ¥ehdl ©
(a) Hag H gfg
(b) FERA™ THA H FHH
(¢) AU 19T 1 3= Teteh § siger
(d) ST = gfaal 9o HEl
() BEI I ArHEITSH Ysaqfy 1 U H Fgea
() Toreger e Sa: T H 9ig
che :
(1) (a), (b), (1 (2)  (a). (b), ()
(3)  (b), (¢}, (d) (4)  (a), (o), (f)
16. T=faEd a9 § gemyie H=ihE 2
(a) T © (b)  Terzifa= it (c) Toraifa =i
) Tafa € (e) faarfoq g (fy Taeifed =
che :
(1) (a), (b), (d) (2)  (b), (d), (e), (1)
(3)  (B), (o), (e), (4)  (a), (d), (e), ()
eed HH\H WH\U\“\H\H\\H 7
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Find the correct combination of quantum of External load using the code given below :

(a)  Volume of lToad

(b)  Type of training means
() Qualily of exercise

(d) Intensily of load

() Frequency of load
Codex

(1) @, (b)), (<) (), (e)

(3) (@), (c), (d). (¢)

Criteria for a standard test mvolves

(a)  Validity (b)
(c)  Norms (d)
Code :

(1) (@), (©) (d), (e)

(2) (@), (b), (c), (d)

(3) (@), (0), (d)

(4)  (a), (d)

Variability

Objectivity

(@), (b), (<), (d)
(b), (€}, (d). (e)

(e)

Validity of test is established by which methods ?

a) Judges Rating
b)  Tournament Standing,

(
(
(¢} bstablished Tests
(

d)  Comparison of Known levels of Ability

(e)  Composite Scores
(f)y  Tarallel Forms
Code :

(1) (a), (b), (¢), (d), (e)
(2) (a) (
(3)  (a), (b), (¢
(4) (@, (b), (0), (e

Complexity
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(1) (a), (b), {c), (d), (e) (2)  (a), (b), (c), (d)

(3) (), (), (d), (e) (4) (b, (c), (d), (e)
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(3)  (a), (b), (¢}, ()
(#)  (a), (b). (o) (e} (D)
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20.

21

22,

23.

Sociological foundation of physical education discusses :
(a)  Body tvpe

(b)  Motor learning

(c)  Competition and cooperation

(

d)  Socialization process

Code
(1) (a) and (d) (2)  (b) and (d)
(3) (&) and (¢) (4) (¢} and (d)

What is the correct sequence of events for 2 day of men decathlon event ?

(a)  Discus throw (b)  PPole Vault

(¢) 110 m Hurdles (d) 1500 m (e) Javelin throw
Code :

(1) () (e (a), (b). (d) (2) (o), (@), (b), (e), (d)

(3)  (c). (e), (b), (a), (d) @) (0. (b) (0), (a), (d)

Find the correct sequence of pulmonary circulation from the code given below :

(a) Left Auricle (b)  Lungs (c)  Right Auricle

(d)  TPulmonary Artery (e) Venacava (f)  Right Ventricle

(g)  Tulmonary Vein

Code :
(1) (o) (o), (f), (g). (b), (d), (a) (2)  (c) (¢). (g), (), (d), (a), (b)
(3) (o), (c), (1), (d). (b), (). (a) (4) (o) (e), (), (g), (d), (a), (b)

Sequencially arrange the muscles according to its location from bottom to top.

(a) [liacus (b)  Adductor Magnus

(c)  Peroneus brevis (d) Psoas major (e) Peclineus
Code :

(1) () (©) (@) (b), (¢)

iy fc
)

) )
1) (a), (d), (c), (©), (b)

).
aers || LA
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20. IR 14T ol JHSEMEE 9] <=1 Ll © ;
(a) ¥R FHR
(b)  HIET Afey
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(d) HHSERT] Gkl
HE
(1) (@) ¥ (d) (2  (b) FR(d)
() () () (1) (o) ()
21. IV fehuetE = gEX o7 3 aret wyiet =1 ud w9 % 9+ ;
(a) Tewhy o COERIEES
(¢} 110 ¥ 9= €2 (dy 1500 . () Al o
<hd
(1) (), (e), (@), (b), (d) (2) (), (a), (b), (e), (d)
(3) (o). (e), (b), (a), (d) (4)  (c). (b), (e), (a), (d)
22.  Hrd fSU U 2 H § GERHE HER & TEl hH 0
(a) T Sfa] (b) TSI () =t afea
(d) FEEHA gHH (€)  HBIYNT () = dfewa (fog)
(¢) HWRHA 79
HE :
(1) () (o), (1), (g), (b), (d). (a) (2) () {e), (g). ), (d), (a), (b)
(3) (&) (), (1), (d), (b), (g). (a) (4) (o). (&), (1), (g), (d), (a), (b)
23, TyeAterfad J9-97mEl shl A= 9 S0 Gk hil 3eh] STefeafd < SN s H =aeiterd shifsy
(a) ETaTRy (b) SR HHH
() e gfas (d) I TR ORRIEARERE
ehe
(1) (d), (¢}, (&), (b) (L)
(2) (), (b), (e), (
(3)  (e) (a), (d), ( (b)
(4)  (a), (d), (c), ( (b)
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Arrange general performance characteristics of skill learning in sequential order :

(a) Consistency (b)  Persistance
(c)  Adaptability (d) Improvement
Code :

1) (d) @), () ©

(2) (@), (b), (d), ()

(3)  (b), (d), (a), (c)

(4)  {c), (d), (b), ()

Herbart developed five formal steps for a knowledge lesson plan. Find the correct sequence
of steps from the code given below :

(a)  Association and Comparison
(b)  Generalisation

(c)  Presentation

(d) Preparation

(e)  Application

Code :

(1)~ (d), (c) (a), (b), (o)
(2)  (a), (d), (c), (), (b)
(3)  (b), (@), (d), (), (e)
(4)  (d), (), (), (b), ()

Find the correct sequence from the code given below : (Prevention and control of communicable
diseases)

(a) Disinfection (b) Treatment

(c)  Notification (d) Isolation (¢)  Immunization
Code :

1) (@), ®) (@) © 2) (@) @, ) @) (@)
() (© (), (), ®) @ @) © (), () (), @

Sequentially arrange the steps of technique training and find the correct options {rom the
code given below -

(a) Finding way of and means of Motor learning process

(h)  Determining the best motor procedure

(c)  Exploring the way of and means of implementing technique training
(d)  Study of motor co-ordination

Code :

(T) { ) (1") (), ( ) (2)

1, (d),
I MH H\“HHHHH "
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24, THIYE FATHEH S HH YeuA [a9arel sl HHMHR SHaferd Hifo
(a) wElH (b) T
(c) AT (d) HuX
che :
(1) (d), (a), (b), (c)
(2)  (a), (b), (d), (¢)
(3)  (b), (d), (a), ()
(4) (0 (d), (b), ()
25, TS A AF T13 AT o feTQ e SiTqeiies =)ot o1 faer foran = fou 0 e & & =/onl o1 Wel %A
A :
(a) HEEH R A
(b)  HTHTZERTY
(c) TR
(d) T
OREL
he :
(1) {d), (c), (a), (b), (0)
(2)  (a), (d) (), (e), (b)
(3)  (b), (@), (d), (c), ()
(4)  (d), (a), (¢), (b), (e)
26, < S0 U k2 § ¥ W&l HH hl AT : (HEROEie =Sl 61 gidehi ud o)
(a)  TTTOATIR (b) Zcdls
(c) AT (d)  JUERT (¢)  ETHTRTO
<hd ;
(1) (d), (b), () () (&) (2)  (d), (e), (b),
(3)  (e), (d), (e), (D), (a) (4) ( ), (d), (B), ( EJ (aJ
27. TR U o =9 ] hOdg sifed ad1 fEfated e o w wEl fawen 9
(a) T SITeETH YR oF GR-aliech T ]
(b)  HeT<H I Ukl kT THHICOT el
(c) eI HIE =F Farere = dr-aieh el
() 77 S =T AT Al
che :
(1) ( ) (b) ( ) (d) (2)  (b), (d). (a), (c)
(3) (4)  (b) (o), (d). (a)
a1 HHH\ W “H HH UHUH\HHH
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Find the correct sequence for steps of content analysis :
(a) Testing of Catagorics

(b)  Preparing of Report

(c)  Collection of data

(d)  Analytic description of subjects

(¢)  Selection of Units of Study

(f}y  Catagories Marking

(¢)  Formulation of lable

(h)  Scheme of the form of study

(1) () (f), (@), () (g), (h), (), (b)
(2) (e (o) (g) (h), (B, (), (), (b)
(3)  (h). (o), (), (c), (a). (g) (d), (b)
&) (o) (1), (0) (@), (g), (h), (d), (b)

In Barrow Motor Ability Test items, Find the eorrect sequence from the code given below :

(a) 60 Yards Dash (b)  Standing Broad Jump (c)  Wall Pass

(d)  Softball Throw (0)  Zig Zag Run (1)  Medicine Ball Put
Code :

(1) (b), {0) (), (), (e), (&)

(2)  (b), (©) (d), (e), (£). (a)

3 (b), (@) @) © 0 @

@) (b), (d), (e), (I), (), (a)

General Lesson Plan consists of the [ollowing :

Find the correct sequence from the code given below
(a) Formal part

(b)  Introduction

(c)  Assembly and Roll Call

(d)  Recreation

(e)  Assembly and Dismissal

Code :

1) (e), (b), (0), (d) and (a)
@ @, ©, (d) () and (b)
B) (@ M), ( Jand (e
@ o) @), (d) &) and (¢

Paper-II
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28, Torvgers o Torgeluw < eHl &1 WEl T Fqeley
(a) @I o] TLUET]
(b)  THIZ =T TR LA
(d) Towa =1 faversomens faazm

() AT i THZAI 1 =9
(f) ST ol HIfehT]

(¢9)  TTlCTRT =Rl HHTHTT

(h) A=AF9 o TY I A

he @

(1) te} Uf) (a), (¢), (). (h), (d), (b)
(2) (), (g), (h), (), (a), (d), (b)
(3 (L (£), (c), (a). (g), (d). (b)
(4 {f‘) (1), (c), (a), (g}, (h), (d), (b)

29. S THE AT T % Gl § A G0 MU Fe § ° WEl HY AGEIT FHifa

(a) 60 TS B 2 (bh)y ETET 918 99 (¢) <l 9H

d)  HEIE 9 () <EI-TE TS () Afefes are e
<hd

(1) (b), (), (d), (), (e), ()

(2) (B, (c), (d), (), (), (a)

(3)  (b), (d), (e), (¢), (£), (&)

(4)  (b), (d), (), (1), (c), (a)

30, ST o8 e o fAefafeg afafag sar g
1< 130 70 %= H 9 Vel 54 HI U

(a) SATTATER 9

(b) WS

(c) srETEE SR s

(d)  HARSH

(e)  FHTEE 3 fowsia

<he :

(1) (e) (b), (©). (d) 3 (d)

(2) (@), (), (d), (e) H (b)

{3) {C): (b), (c) (d) ¥R (e)
), (), () 3:?]7 C}

a7 HHH\H\WH\W I
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31. Given below are two statements, one labelled as Asscrtion (A) and the other labelled as
Reason (R) :
Assertion (A) ¢ Physical bducation is an allied science, basically concerned with man in
molion.
Reason (R) : Anatomy, Physiology, anthropology, bio-chemistry, bio-physics,
bio-mechanics elc. conlribute a lot to the understanding of man and his
movement from the point of view of physical activity programme.

In the context of the above sltalements, which one of the following is true ?

Code :
(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A).
(2)  Both (A) and (R) are true, bul {R) is not the correct explanation of (A).

)
(3} (A) 1s true, but (R) 1s falsc.
(4) (A) is [alse, but (R) is true.

32.  Given below are [wo slatementls, one labelled as Asserfion (A) and the other labelled as
Reason (R) :

Assertion (A) : During Strenuous oxercises blood supply to some organs is restricted by
vasoconstriction and to some organs blood flow increases significantly due
lo vasodilation.

Reason (R) : Blood flow is directly proportional to the pressure gradiant between two
points and inversely proportional to the ‘Resistance to [low’.

In the context of the above statements, which one of the following is true 7
Code :

(1)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(2)  Both (A) and (R) are true, but {R) is not the correct explanation of (A).
(3)  (A) is true, but (R) is false.

(4)  (A) is false, but (R} is true.

s
ey

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) @ The pull of the psvas muscle increases shear force on the vertebrae.
Reason (R) : In the lumbar vertebrae, shear [orce decreases with increased swavback.
In the context of the above sltalements, which one of the following is true ?

Code :

(1) Both (A) and (R)

(2)  Both (A) and (R) are true, but {R) is not the correct explanation of (A).
(3)  (A) is true, but (R) 15 false.

(4)

are true and (R) 1s the correct explanation of (A).

(A) is [alse, but (R) is true,

aers || LA
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31. A= &1 e QU T €, Tk i 3Mfuener (A) ST gHY <l ek (R) 8 141 Z |
atfuerer (A) : iR foren us Horg fagm & forwen gored ¥ 7 &1 1fa 9 999 T

ek (R) IR =1 fagm, v fagm ama-fagm, sie @, sa difast, s@ =i ot
IR Toha shishd ol g2 | A 311 SHeh! 7T o §HH § AAHE AR
EZGIRS

IHRE Al & Hey H H=faiEd 4 | s[E-91 Ja& ¢ ?

<he :

(1) (A) Ta (R) THi T2t ¥ 31T (R), (A) FT T6T AT ¥ |

(2) (A)wd ( ) TE1 TE ®, T (R), (A) F FEl 2 T G

(3) (A) W&l g, oA (R) 7T 2 |

(4) (A) oM g, ATHRA (R) Wl 2 |

32. A= T YA UMY T, Uek Rl TR (A) 3R T & deh (R) gl T 2 |
UL (A) : TS A = SR FB A7 H & =1 STl T Hsp=a =6 07 %9 31 5wl & $I7
F2 ST H T 1 AT B0 THN % SR &g &g Sl T

e (R) : T 1 JATR <1 THgEl & S H S99 SII o QHUIiae 2 € #R HaE &
gfay’ < el FaHfas g §
SR Al ok el | faefeiad § 9 -9 wWer 27

che :

(1) (A) T8 (R) THI T& T 37 (R), (A) =1 98I SATRAT T

(2) (A) WE (R) <Hi w&l €, 9fA (R), (A) F1 91 =0@m 72 )
(3) (A) W&l g, oA (R) o < |

(4) (A) e B, TR (R) WRT T |

33. A= S e QU T €, Tk i 3ifiener (A) I g8 i den (R) @ T4 2
TR (A) :  HITH HH-T¥ =] Gied § {8 W e 98 S © |

ek (R) : sier T T Al e g < W19 9d &1 erdl § |
ST Ul ok dey W TtarEd § ° hiA-H Wl € 7

che :

(1) (A) @3 (R) 31 931 § 3R (R), (A) I HgI AE=AT T |

C L Y

(
(2)  (A) W (R) I |l 2, WA (R), (A) I |l =ARAT T2 2 |
(3) (

gl %, TifRd (R) TeTd © |

(A) TTETd T, oifehd (R) 981 T |

— HHHHHWHH“ RN 17
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Participation-centered source ol motivation in sport is lo examine the
personal dispositions which are closely related to high motivational state.

Reason (R) : Individuals with high ability for motivation will not exhibit this motrvational
ability unless the situation or environment is condusive for it.

In the context of the above statements, which one of the following 1s true ?
Code :

(1)  Both (A
(2)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3)  (A) is true, but (R) 1s falsc.
(4) (A) is [alse, but (R) is true.

) and (R) are true and (R) 1s the correct explanation of (A).

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : The objeclives of the physical education had changed over the course of
history.

Reason (R) : The changing concept is the result of rescarch conducted in various
universities over the last few vears.

In the context of the above statements, which one of the following is true 7

Code :

(1) Both (A) and (R) arc truc and (R) 1s the correct explanation of {A).

(2)  Both (A) and (R) are true, but {R) is not the correct explanation of (A).

(3} (A) is true, but (R} 1s falsc.

(4)  (A) is [alse, but (R) 1s true,

Given below are wo statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : The Spectral concept of health emphasizes, that the health of an individual
is not static

Reason (R) : It implies that health is a state not to be attained once and for all, but ever to
be renewed.

In the context of the above statements, which one of the following is true 7
Code :

(1)  Both (A) and (R) are true and (R) is the correct explanation of (A).
(2)

(3)  (A)1s true, but (R} 15 falsc.
(1)

Both (A) and (R) arc true, but (R) 15 not the correct explanation of (A).

(A) is [alse, but (R) is true.

LTI
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A= 2 A 19U U €, U 3IERYT (A) T 3R 0 % (R) 2

MUK (A) :  BA-F< H Fewimal i=a SR = @[ safaana @ygiaal & |b & fau g
Zoh] o STAUTONeHeh STereen § Hey ¢ |

h (R) AU <k T8 =1 Aadl JTel Al 39 ATHUIUCHS: Ad] bl 6 deh Jeivd
Tel {1 9 aF foh afifeta =1 amae z9e fou s95a = 9 |

ST oAl o Hed ¥, TeferiEd § | hiA-9 e § 7

<he :

(1) (A) iR )aﬁaﬁ%-ﬁﬁz(ﬁ),(maﬁwﬁaﬂ@ﬂ%

(2)  (A) 3R ) R) A TEI 7, TR (R), (A) 1 HEl =T 786 2 |
(3)  (A) T, T (R) O B

(4)  (A) Terd ¥, g (R) TET B

A= 2 YA TS0 770 €, Weh i SIERYT (A) € 3R ¢854 @ (R) 2|
arfyererT (A) ;. omifieR firer = 389 sfasre = SR ufiafda gu

gy,
T (R) fom = ot 4 fafis favafaest o few o vy & gftoresasy sraaron §
T g3 |
ST FoHl & Hed o, frefafaa § 9 -9 wet ® 7
ehd ;
(1) (A) S (R) IH1 T E IR (R), (A) T T =& € |
(2) (A) 3R (R) A T €, T (R), (A) T T =A@ =1 2
(3) (A) =8l T, T (R) T4 B |
(4)  (A) TIA B, Tohg (R) el § |

=i g1 o U Tu ¥, U T 1R (A) 3T TH W dek (R) FET T B

ARERLT (A) :  TTEA T Tz H STAURI 9 <l ¢ fob =afaa o wmed fer 7 2

d@eh (R) : TRt 314 7§ fop wamees us wrewe T 1979 woa < faw ura =81 fora siar s1fg wica
TATERTI] FAT BT B |

SR wFl o Heo #, fAfafea § 9 - 98 € 7

he o

(1) (A) T8 (R) THI W& § 311 (R), (A) FT TE A= |
(2)  (A) T (R) THI W=T 2, oA (R), (A) 1 Tl =& 120 ¢ |
(_?%) (A) F&1 %, ofeha (R) 7Toid T

4y (A) e ¥, ©ferd (R) 981 B

o NN 1
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : By defining a problem, a rescarcher put a fence around 1t, to separate it by
carefull destinations [rom like questions [ound in related situations of need.

Reason (R) : A research problem is a specific question proposed for solution.
In the context of the above statements, which one of the following is true ?
Code :

(1)  Both (A) and (R) are true and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) are true, but {R) is not the correct explanation of (A).

(3)  (A) is true, but (R) 15 falsc.

(4)  (A) is [alse, but (R) 15 true,

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Sports scienlists have explored that genetic factorts play a major role in the
attainment of olympic medals by top level athletes.

Reason (R) : Sports talent ultimately determines the maximum limit to which the sports
performance can be improved through training,.

In the context of the above statements, which one of the following, is true ?

Code :

(1)  Both (A) and (R) arc truc and (R) is the correct explanation of (A).

2)  Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).

) (A) is true, but (R) is false.

) {A)is false, but (R) is truc.

‘i

(
(
(4

From the following choose the correct statements :

Statement - I The Standard error of mean decreases in direct portortion to sample
S17.C.

Statement - I The Standard error of mean is the standard deviation of the sampling,
distribution.

Statement - IIT A Statistic 15 a characteristic of a population.

Code :

(1)  Only I and IT are true
(2)  Only I and IIT are true
(3) L IT and III are truc

(4 Only II 1s true

)
ased |V 2
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37. A= &1 e QU T €, Tk i 3ifuene (A) $IT g8 i den (R) 8 T4 2
ATUHYT (A) : IS ol Ineell THR 1 TRANNT L T4k Ze-Te ¥ S[edl § ik SE]
STEYAhal | Heilad feafaal o o1u a0 98 g9 %1 GragHEges 1aeA § e

foRal] ST W |
e (R) : I TS g & fan warfad ua fafirse yee g
SR FHUHl ok Gey H, FArarEd § 9 &iF-1 WE € 2
<he
(1)  (A) @3 (R) 31 931 § 3R (R), (A) 1 HgI AEAT T |
(2)  (A)TE (R) S T &, AfF (R), (A) 1 T2 =318 7= 2
(3) (A) HEl g, oA (R) T < |
(4) (A) e B, SR (R) W& © |

38, A & A 90 U 2, Us i STTeRe (A) 3R 9L & °eh (R) el 74 2 |

ATURYT (A) : A ST 1 3H A1 ohi WISl i g o AT HRE Gell=) @1" T2
SR S{TeTIe Yaah! bl 914 H Ueh Y@ YfHeht 49 € |

@R (R) T gfay #idq: 9 @ o ARG = 8 foad g9finem & ST wd e
HTH-9E9A (GRHET) H YR 71 <1 |ehel 2 |

S HUA] 6 Hed d, fEfargd 8 § ShiH-91 ¥E 22

ehd ;

(1) (A)Lct(R Gl WEl § #R (R), (A) 1 TS SATE T |

(2)  (A)TE (R) S R, ﬁféhri (R), (A) i T2 = 72 2 |
(3) (A) WEl g, oA (R) o € |

(4) (A) e g, T (R) W8T T |

39. TefefEd d | w&r kel shl i
HeA-1 . HEIHM I A 712 H A & AR & el g9 § TR Sl ¢ |

SheA-I1 :  HEHI ] Heh e THAT = 1 " e faaed ga1 ¢

THOE-III : e <t Hilieger SEEH o1 T« 24 ¢ |

che :

(1) Faa 1 iR 1wt §
(2) Fae [ SR I wE ¥
(3) L 113 = e
(4) FIA I T ¥

L 2
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40. Given below are two statements, one labelled as Asscrtion (A) and the other labelled as
Reason (R) :

Assertion (A) : In Sports a number of skills and abilities are involved, which lead to
successful performance,

Reason (R) : Skill tests can not measure actual abilities of the concerned game.
In the context of the above statements, which one of the following is true ?

Code :

(1) Both (A) and (R) are truc and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) are true, but {R) is not the correct explanation of (A).

(3} (A) is true, but (R) is false.

(4)  (A) is [alse, but (R) 15 true,

41. Given below are two slatements, one labelled as Assertion (A) and the other labelled as
Reason (R) :
Assertion (A) : Controlling is one of the managerial functions like planning, organising,
staffing and directing,

Reason (R) : It is an important function because it helps to check errors and deviations
lo achieve required goals.

In the comtext of the above statements, which one of the following is true ?
Code :

(1) Both {A) and (R) are truc and (R) is the correct explanation of (A).

(2)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3)  (A) is true, but (R) 1s false.

(4)  (A) is talse, but (R) 1s truc.

42.  Match List-I with List-1T and sclect the correct option from the code given below :

List-I List-I1I
(a) 2018 Summer Youth Olympic (i) Lausanne
(b} 2020 Winter Youth Olympic (1)  Tokvo
(c) 2020 Summer Olympics (iii) Buenos Aires
(d) 2020 Winter Olyvmpics (iv)  Bejing
Caode
@ () (9 (d)
(1y (1) (uiy (1) (iv)
(2 V)

1

(
) (
) (i) (1) )
(3)  (v) () () ()
() (1)

(i) (rv)  (111)

aers [ {HHHITUTAN 2
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AFURAT (A) : Tl H T hivd SR TFGan wiee € i 9% JS¥H 1 TR 99w il © |

Ten (R) FIITET T GH 4T Wl &1 ATEdiass aradied &) T8l 919 Tehd |
ST <HI Al & ded ¥, frefafad 8 § -3 e Wel ¥ 2

e

(1) (A) 3ir (R)aﬁaﬁ%&ﬁz (R), (A) T &1 AT T |

(A) 3
(2) (A) T (R) T FE &, g (R), (A) 1 Wt =Amen 7e |
(3)  (A) T T, g (R) 981 497 §

(4)  (A) Td B, T (R) 921 2

41, = T e fGu Y ¥, U ) SifeReA (A) 3R S HT 96k (R) FEl TR

TR (A) :  TSHHE AT 519 A1 A, TS hiA], FHARE 9 311 999 <4 1 T 7Y

23 ‘lﬁ%rl

s (R) : STUfeId &% W e © 78 U Teeaul w1 § i A7 Ffedl iR faged =1 I

T SIS Ted T Al ¢ |
S A o gl §, fEfafEg § 9 sH-w1 e T8 g 2

<hd ;
(1) (A) @3 (R) 31 931 § 3R (R), (A) 1 HgI =AE=AT T |
(2) (A) W (R) 31 981 &, @9 (R), (A) 1 9 20 T2 © |
(3) (A) FEI %, ofer (R) Terd T
(4) (A) TEE &, TIfRT (R) 58T T
42,  wEl-1 %] ger-11H gaferd i si) A= feu 71 32 § | |2 Hehed g
geit-1 geI-11
(a) 2018 TSR Fel #AiTeh (iy o=eA
(b) 2020 iiqehTelta a1 AT eh (it)y 2
(¢) 2020 TrHaTel Hrelfieh (i) =gTH A
(d) 2020 YideRTei SAeTeh (iv) SIS
ehd ;
(@) (b) () (d)
(Iy (1) (i) () (iv)
(2) () @ ) (v)
(3)  Gv) @) @) ()
(4y (1) (v) (i) (1)
Seed T

Paper-11
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Match List-I with List-II and sclect the eorrect oplion from the code given below :

[ist-1

(a) Vitamin E
(b)  Glycogen
(¢)  Fatty Acid

(d)
Code :

,|_L

e e
pe S S
——
ot
.C,.-l
R . T W

[~

(b)
(1)

(ii)
(iii)
(iv)

Coenzyme NAD

(c)
(iv)

List-11
1) Acrobic Glveolysis
11)  Anacrobic Glycolvsis
i) Ergogenic Aid
iv)  Endurance

Match List-I with List-II and select the correct option from the code given below :

List-1

(a)  Axial Force

(b)  Tensile Stress

(c)  Shear Stress

(d)  Compressional
Stress
Code :
(@) (b) (e
(1) @) @) ()
(2) () () (v)
(3) ) [v) )
(4 (v) @ @)

List-II

Breaking Stress

Component of Stress coplanar with a material cross section
Stress componenl perpendicular to a given surface

Tension force

Malch List-I with List-IT and select the correct option from the code given below :

List-I

(a) Tension

(b)  Anger

(¢)  Frustration

(d)  Stress
Code

(a)
(1) (i)
(2) (i)
(3) (i)
(4) (i

(b)
(i)
(iv)
(1)

(i1)

(¢
(1v)
(1)

(1)
(

111

)
il

(d)
(i)

(i1)
(i)
(

iv)
\

List-II

An imbalance between physical and psychological demand and
response capacity

Feeling of mental and nurvous strain

Occurs inresponse to a demeaning offense aganist an individual
Negativity arising from perceived resistance to the fulfillment
of demand

24 Paper-II
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43. FEI-1 % Fer-11 ° gAfea Hifen o) 4 feu 70 2 9 § w8 f@eed g

geit-1
(a) forfe 5
(b) TETERSH

(c) =HEA 7
(d) HITIEH TA.UEL

<hd ;

(@) (b} (o) (d)
() () (1) (v) (3
@) (v @ @ (i)
(3) (v} (@) () (@)
(4) () (Qv) @) (i)

Fe-11

() e TERHaad

. T BN N
(i) wALTeER TAEhTAEY

(iil) TSI T8
(iv) Z=aid

e =

44, 1R GEI-11 9 gofea sty @ik 9= fou 7u 5 § 9 g fawes g

LA -

(a) o HelHll o
(b) T <HE (FH)
(¢} TTed <=1
(d) A @ (FEEET TH)
che :

(@) (b) (c) (d)
(1) @ @) () (iv)
(2) () @) Gv) o (i)
(3) () (v) ) (1)
(4) (iv) () (i) (i)

45. H=l

-1
(a) = (1)
(b) T (i)
() el (iid)
(d) Temm (iv)
che :

(@) (b) () (d)
(1) () (@) Gv) ()
(2) () (v) (1) (i)
@) (v) (@) () (i)
4) i) (iv

(i)
|

) (i) (iv)
aad L THIEH

-1
i) <o ohl Taved S

-

(
(i) HFE hiF HEH & |IY TLH S h] 97T
(itf) € T |IZ HT AT ST HIT

(iv) T ol (26T HIH)

=T-11

ST 31X AT A ST URITR 47641 o si= STHger
HITEe AR TR We ] Salre o A9a

it safaa = fawg i a0y & g H e ©

T 1 gfd § SAgueTa Iy ¥ 3e0 FH AT

25 Paper-11
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46. Match List-I with List-II and select the correct option from the code given below :
List-I List-I1I
(a)  National Phvsical (1) 1954

Efficiency Drive

(hy AlU (i) 1980
(Inter University board)

(¢} All India Council of (i) 1957
Sports

(d)y  Sports authority of india  (iv) 1961
(v) 1925
(vi) 1959-60
Code :
@ () (o
M o) @
(2)  (v)  (vi) (u)  (if)
(3) i) () (V)
&) (v () (D)

47. Match List-1 with List-II and sclect the correct option from the code given below ¢

List-I List-II
(Caloric requirement) (keal/day)
(a) Man-Sedentary iy QAN
(b)  Woman-Sedentary (it) 2440
(c)  Bovys-16-17 years [y 2320
(d)  Girls-16-17 vears (iv) 1900
Code :

@ O (© (d
(1) ) ) G ()

@ i) (v) () O
@ ) (i {iv) (i)

(4) (i) (iv) (11)

N-04717 HHHH‘ 26 Paper-II
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46. FEI-1 %] Fer-11 § GAferd IS o) 4 feu 70 2 9 § w8 f9ehed g

L1 -1
(a) e fwiswe TiRiHu 2ea (i) 1954
(b) TR (3= Afafded ag) (i) 1980
() oW Fean hifae #1T% T9eH (i) 1957
(d) TE" AT 1w gfean (iv) 1961
(v) 1925

(vi) 1959-60

(@ (b)) (o)

) i) (v) @)

(2) (v) (vi) (i) (i)
) vy () (v) (i
) vy () () |

47. -1 geEr-11 § gafea wifse w99 oo 7 e § 9 98 fowe 9w .

geii-1 e~ 11
( SheAr{T Tl TSIYTehar ) ( et/ ufafeT )
(a) HI-TAR (i) 3020
(b) HIE-THY (i) 2440
(¢) Teh-16-17 a8 (i) 2320
(d) wEfEA-16-17 e (iv) 1900
we
(@) (b) () (d)
(1) @ @y Gy (iv)
(2) (i) (v) () 0
(3) @O (g (iv) (i)
(4) (i) (v) (1) (i)
o [ IHANTAN 2
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48. Malch List-I with List-II and select the correct option from the code given below :

last-I
(a)  DPrinciple of cvclicity of training (i)

(b)  Principle of progression of load (1)

(¢} DPrinciple of regulation of (111)
training
(d)  Principle of uniformity and (iv)

difforentiation
Code :

(@ () (© (d
1 O ) @) i)
@ (i) @) @) ()
() ) @) O )

[ist-T1
Group and individualized training
Load indices

Sequence of load-recovery

Linear melthod

49. Match List-1 with List-II and sclect the correct option from the code given below -

List-I List-1I
(a)  Median (1) Measure of dispersion
(b)  Quarlile deviation (i)  Measure of Inequalily
(c)  Gini co-efficient (iii) Measures of Central Tendency
(d) Coellicient of (iv) Regression analysis
determination

Code :

(@) (b) () (d)
(1) (@) () @G (i)
(2) () () @) (v)
(3) @) () (v) (i)
4) () @) v) (1)

aers || LA *
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48. FEI-1 %1 Fer-11 ° GAferd IS o) 4 feu 70 %2 9 § w8 f9eed g

geii-1 geil-11
(a)  =hTT UT¥Iero] <k Tagr (i) HYE UE Uehel Gi¥1atvl
(b) 9N gMg w1 G (i) | SRl
(c) Hfereror = fafwaea =1 fagrd (iii)  YR-A: I R SHHRg
(d)  UsmETdl o fafaem s g (iv) @ ey

O @ @ Gv) G
@) @) @) G ()
B) ) @ @ )
(4 ™) @ G ()

49, gEI-1%h Fei-11 & W Fafera Hifag R 7= fgu 71 2 § | w&r foaawey =1 g

geil-1 T=i-11
(a) HEHAT (i)  TeremT =67 |
(b) =q¥ T (i) ST T 99
(c) Tt Tomes (iii) = g F T
(d) H&Hed R U (iv) OfdH feagerm

(@) (b) (e} (d)

() ) @ G (v)
(2) (i) @ ) (iv)
(3) @ () (i) (i)
(4) () (i

) (v) (1)
aurs LI 2
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50. Match List-I with List-II and select the correct option from the code given below :
List-I List-I1I
(a) Indiana Molor Fitness Index I (i)  (Straddle chins+ Push ups) X (Standing Broad
Jump)
(b)  Indiana Motor Fitness Index II  (if)  {Straddle chins + Push ups) x (Vertical Jump)
(¢)  Indiana Motor Fitness Index [II  (iii) (Chins + Push ups) X (Standing Broad Jump)
(d)  Indiana Motor Fitness Index TV (iv)  (Chins + Push ups) X (Vertical Jump)
Code :

(@ (b)) () (d)
(1) v) () @ (1)
(2)  (w) () (1) (1)
3)  (v) (i) () (@)
(4) @) @v) G ()

~00o-

aers || LA



www.prepp.in 'repp

Your Personal Exams Guide

50.  FE-1 %] ger-11 § gaferd i o) 4= f€u 70 %2 | | W& foed &l g

geil-1 Tei-11
(a)  SI~=aM MHF THIAT TSV () (ea o + 9 sTE) x (EfET are 9m)
(b) i T A YEYE-l (i) (Fea fom + 991 3199) x (afdwe <)
(c) sf=amr e e e 11l (i) (o + or oTq@) x (EEm e wm)
(d) Sf=ar moew e yeeieR-1y (iv) (o + 991 31vm) x (aféswa wm)
<hd

(@) (b) (¢

(
() Ov) ) @
(2)  (w) () (@) (1)
(3) (i) (i) ()
(4) () (@) () |

-0 o-

aers 1IN
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